

Test 2 AT to solve ()se x + y = 22x + 3y = 3 $\begin{pmatrix} 1 & 1 \\ 2 & 3 \end{pmatrix} \begin{pmatrix} \times \\ \end{pmatrix} = \begin{pmatrix} 2 \\ 3 \end{pmatrix} 4$ multiply by A'th get $\begin{pmatrix} 3 & -1 \\ -2 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 2 & 3 \end{pmatrix} \begin{pmatrix} X \\ Y \end{pmatrix} = \begin{pmatrix} 3 & -1 \\ -2 & 1 \end{pmatrix} \begin{pmatrix} 2 \\ 3 \end{pmatrix}$

$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 3 & -1 \\ -2 & 1 \end{pmatrix} \begin{pmatrix} 2 \\ 3 \end{pmatrix}$$
$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 3 & 2 & -1 & -3 \\ -2 & 2 & +1 & -3 \end{pmatrix}$$
$$\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 3 \\ -1 \end{pmatrix}$$

Answer: $x = 3, y = -1$
$$(++++)$$
$$(3)$$
$$det \begin{pmatrix} 1 \\ 3 \\ 1 \\ -1 \\ -1 \end{pmatrix}$$







inverse since det(A)=0

Test 2 (4) Show that $\vec{v} = \langle 1, 0 \rangle, \ \vec{u} = (1, 3), \ \vec{u} = \langle 1, 1 \rangle$ are linearly dependent and write one of them as a linear Combination of the others,

 $C_1 \vee + C_2 \vee + C_3 \vee = 0$ $C_1 < 1, 0 > + C_2 < 1, 3 > + C_3 < 1, 1 > = < 0, 0 >$ $\langle c_{1}, 0 \rangle + \langle c_{2}, 3c_{2} \rangle + \langle c_{3}, c_{3} \rangle = \langle 0, 0 \rangle$ $< c_1 + c_2 + c_3, 3c_2 + c_3 > = < 0, 0 >$

$$C_{1} + C_{2} + C_{3} = 0$$

$$3c_{2} + c_{3} = 0$$

$$C_{3} = t$$

$$C_{2} = -\frac{1}{3}c_{3} = -\frac{1}{3}t$$

$$C_{1} = -C_{2} - C_{3}$$

$$= \frac{1}{3}t - t = -\frac{2}{3}t$$

$$Plvg \text{ this back intro-}$$

$$c_{1}\vec{v} + c_{2}\vec{w} + c_{3}\vec{w} = 0$$

$$to \text{ get}$$

$$(-\frac{2}{3}t)\vec{v} + (-\frac{1}{3}t)\vec{w} + t\vec{w} = 0$$

$$Plvg \text{ in } t = 3 \text{ to get }:$$

$$-2\vec{v} - \vec{u} + 3\vec{w} = \vec{0} + \vec{s} \cdot \vec{v}, \vec{u}, \vec{w}$$

are lin. dep.
$$\vec{u} = -2\vec{v} + \vec{s}\vec{w} \leftarrow \vec{u} \text{ as a lin.}$$

Combo of
 $\vec{v} \text{ and } \vec{w}$

$$5(a)$$
 Show that
 $\vec{a} = \langle 1, 2 \rangle, \vec{b} = \langle 2, -1 \rangle$
are linearly independent

Consider

$$c_1 \vec{a} + c_2 \vec{b} = \vec{0}$$

 $c_1 (1, 2) + (2 (2, -1)) = (0, 0)$
 $< c_1 (2, -1) = (0, 0)$

$$\begin{cases} c_{1} + 2c_{2}, 2c_{1} - c_{2} \end{pmatrix} = \langle 0, 0 \rangle \\ S_{2} = \langle 0, 0 \rangle \\ C_{1} + 2c_{2} = 0 \\ 2c_{1} - c_{2} = 0 \\ c_{1} - c_{2} = 0 \\ c_{2} - c_{1} = 0 \\ c_{2} - c_{1} = 0 \\ c_{2} - c_{2} = 0 \\ c_{1} - c_{2} = 0 \\ c_{2} - c_{2} = 0 \\ c_{1} - c_{2} = 0 \\ c_{2} - c_{2} = 0 \\ c_{1} - c_{2} = 0 \\ c_{2} - c_{2} = 0 \\ c_{1} - c_{2} = 0 \\ c_{2} - c_{2} = 0 \\ c_{1} - c_{2} =$$

We get

$$C_1 + 2C_2 = 0$$
 (D)
 $C_2 = 0$ (2)

So, (2) $C_2 = 0$ (1) $C_1 = -2C_2 = -2(0) = 0$

We have shown that the only
solutions to
$$c_1\vec{a} + c_2\vec{b} = \vec{0}$$

are $c_1 = 0$, $c_2 = 0$.
Thus, \vec{a} , \vec{b} are linearly independent.
 $(5)(b)\vec{a} = \langle 1,2\rangle, \vec{b} = \langle 2,-1\rangle$
Draw $2\vec{a}, -\vec{b}, 2\vec{a} - \vec{b}$
and the parallelogram they make.
 $2\vec{a} - \vec{b}, 2\vec{a} - \vec{b}$
 $2\vec{a} - \vec{b} = \langle -2,1\rangle$
 $-\vec{b} = \langle -2,1\rangle$
 $2\vec{a} - \vec{b} = \langle 0,5\rangle$

$$\begin{split} \hline (c) & \beta = \left[\overrightarrow{a}, \overrightarrow{b} \right], \overrightarrow{a} = \langle 1, 2 \rangle, \overrightarrow{b} = \langle 2, 1 \rangle \\ \hline From (a) & \beta is a basis. \\ \hline (a) & \beta is a basis. \\ \hline (a) & Fis a orthogonal basis? \\ \hline (a) & a & b = \langle 1, 2 \rangle \cdot \langle 2, -1 \rangle \\ & = \langle 1, 2 \rangle + \langle 2, -1 \rangle \\ & = \langle 1, 2 \rangle + \langle 2, -1 \rangle \\ & = \langle 1, 2 \rangle + \langle 2, -1 \rangle \\ & = 0 \\ \hline (a) & Fis an orthogonal basis \\ \hline (a) & Fis an orthogonal basis \\ \hline (a) & Fis a orthogonal V \\ \hline (a) & Fis a - \langle 1, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (a) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (a) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (a) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle^2 = \sqrt{5} \neq 1 \\ \hline (b) & Fis - \langle 2, 2 \rangle^2 + \langle 2, 2 \rangle$$

So, B is not orthonormal.

$$\begin{aligned} &(d) \quad \beta = [\vec{a}, \vec{b}], \quad \vec{a} = \langle 1, 2 \rangle, \quad \vec{b} = \langle 2, -1 \rangle \\ &Vse \quad Coordinate-dot \quad product \quad theorem \\ &tv \quad find \quad [\vec{v}]_{\beta} \quad where \quad \vec{v} = \langle 1, 1 \rangle \\ &P \quad (v = \langle 1, 1 \rangle) \\ &P \quad (v = \langle 1, 1 \rangle) \\ &Vse \quad (v = \langle 1, 1 \rangle) \\ &Vse \quad (v = \langle 1, 1 \rangle) \\ &Vse \quad (v = \langle 1, 1 \rangle) \\ &Vse \quad (v = \langle 1, 1 \rangle) \\ &V = \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 2 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 1, 2 \rangle}{\langle 1, 5 \rangle^2} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle \frac{\langle 1, 1 \rangle \cdot \langle 2, -1 \rangle}{\langle 1, 5 \rangle} \\ &= \langle 1, 1 \rangle \cdot \langle 2, -1 \rangle \\ &= \langle 1, 1 \rangle \\ &= \langle 1, 1 \rangle \cdot \langle 2,$$

 $=\frac{3}{5}\alpha+\frac{1}{5}b$ $[\vec{v}]_{B} = \langle \vec{s}, \vec{s} \rangle$ So,

 $a = \langle 1, 2 \rangle$ = < 1, 17

(5) (e) (modified) If $[v]_{p} = \langle 2, 3 \rangle$ what is \vec{v} ? So, $\vec{v} = 2\vec{a} + 3\vec{b} = 2\langle 1, 2 \rangle + 3\langle 2, -1 \rangle$ = < 8, 17